Počítání s mocninami

práce s interaktivní tabulí


Jméno:






Datum:


42. 9 + 11 . 42 =

92. 12 - 92. 7 – 6 . 92 =

7 . 52 - 50 =

108 - 33. 5 =

24. 8 + 48 = 

0,24. 6 - 0,24 . 7 =

63 : 67 =

(-7)5 : (-7)12 =

59 : 512 =

(-8) : (-8)5 =

120 : 123 =

10198 : 101111 =

32 . 52 =

253. 43 =

44 . 54 =

46 . 2,56 =

83 . 12,53 =

52 . 202 =

22 . 12,52 =

403 . 7,53 =

(-32)3 =

(-63)2 =

(-73)3 =

(-55)3 =

(-22)5 =

332 : 112 = 

563 : 143 =

3004 : 1504 = 

1304 : 134 =

812 : 92 =

603 : 123 = 

912 : 132 =

(6 – 3) – 5 + 2 =

6 – (3 – 5) + 2 =

(6 – 3) – (5 + 2) =

19 + 3 . (7 – 5) =

19 + (3 . 7 – 5) =

(19 + 3) . (7 – 5) =

19 + 3 . 7 – 5 =

19 + (3 . 7) – 5 =

(2,5 + 3,8) : 3 =

(4 – 9) : 5 =

0,2 . (2 + 7) =

Vypočítej slevu automobilu po slevách.

	Sleva (%)
	Cena automobilu (Kč)
	Postup výpočtu

	0
	283 300
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